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3.   Linear Differential Equations 

A differential equation is linear if the dependent variable y and its derivative 

occurring in it appear  only in first degree . The general form of a linear 

differential equation of the first order and first degree is    , 

………(1) 

Where P & Q are the functions of x alone 

Similarly we can say , 

, is the linear differential equation 

where P and Q are function of y only . 

The solution of                                 is   y.(I.F) =                                   , 

Where integrating factor (I.F) is  
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Solution of Differential Equations



Example 9. Solve  (1+x2) +2xy-4x2=0  

Solution: Dividing by 1+x2, the given equation becomes , 

Now  integrating factor  (I.F.)  =               = 

Hence the required solution is :  

y(1+x2) =                                          ,        

i.e. ,  y(1+x2)  =  

which is required equation . 
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1. The values of x , y , z and a which satisfy the matrix equation

x+3    2y+x            0     -7         

z-1      4a-6      =   4     3a     are  respectively -

(a).  -3,-2, 5, 6     (b). 3,2,-5,-6    (c). -3,2,5,6  (d). 3,-2,5,6

2. If A is a square matrix such that A²=A, then (I + A)² – 3A is

(a) I     (b) 2A         (c) 3I           (d) A

3. If A = and A = A’ then

(a) x = 0, y = 5   (b) x = y    (c) x + y = 5    (d) x – y = 5

4. If a matrix A is both symmetric and skew symmetric then matrix A is

(a) a scalar matrix

(b) a diagonal matrix

(c) a zero matrix of order n × n

(d) a rectangular matrix.

5. If determinant of a matrix A is Zero than __________

(a) A is a Singular matrix           ( b) A is a non-Singular matrix

(c) Can’t say                                (d) None of the mentioned

Questions 
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